Paper: B.E_B.Tech
Set Name: |ltem25
Exam Date: | 29 July 2022
Exam Shift: | 1
Langauge: |Odia
Topic: Mathematics-Section A
Item No: 1
Question
D- 100201
Question
Type: MCQ
Quest A68@Q 646 {1,2,3,...,60} @ &% 99 R 99 QAR 6996&@ R={(a, b) : b=pq, 69K0I6Q p B
uestion: _
q ellaR 6 P, q = 3 6069 4R R @ QdlQle 4°cl 2ee :
A: 600
B: 660
C: 540
D: 720
Topic: Mathematics-Section A
Item No: 2
Question ID: 100202

Question Type: | MCQ

Question: | & z=2+3i, 6061 2° + (Z)° QAR :
A 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Iltem No: 3

Question

|le ' 100203

Question MCQ

Type:




6599 A G B 9R% 3x3 2dq 8Y aAGgR AR AN (A15]) 609@ AB=0 6d10I6Q 0

Question: | 9@ 3x3 2GAQ 474 QARG | 6962 IFAIQ AMRIAE ATe AX=0 IR, 69K0I6R [x y z]T, &
RIQ 6990 OR, :
A: @l 4elaq 9@ A delllie oS |
B: LRl Leje @ AL Lelldla 28 |
C: B 9@ g@eﬁum 2lQl dIQdll 2les |
D: adj(A) 99 Q@Gﬁﬁlﬁ 2l iR 2es |
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ
A 4 + . + .+ d - L coceaqadug
Question: (20 — a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256
el 26e
A 198
B: 202
C: 292
D: 218
Topic: Mathematics-Section A
Item No: 5
Question
D- 100205
Question
Type: MCQ
_ a6 1im @& tRe T tysiny _ 2 on oo 0B,y € R Q199 Q9N 6969 G4 FRIG 696 &
Question: x—0 x sin” x 3
OR q6< ?
A: o +p2+v2=6




B: o +By+vya+1=0
C: a[32+[312+'ya2+3=0
Topic: Mathematics-Section A
Iltem No: 6
Question ID: 100206
Question Type: | MCQ
. 3 1
Question: | g§ | : dx AFIRA Q gAY AR :
. 3 4+ 2 sinx + cosx
A: tan—1(2)
™
B: tan 1(2) — =
4
1 s 0
c: —tan"1(2) - =
2 3
D: l
2
Topic: Mathematics-Section A
Item No: 7
Question
D: 100207
Question
Type: MCQ
A6RRQ y=1(x), AR ARG (1 % ezx)[dl 3 yj =19 9@ ARG ALY FQ [0, g] el
Question: dx
690 G0 @98 | 6062 lLim e'y(x) QAR :
X =—po0
A: E

4




3
B: —_—
4
C: E
2
3
D: e
2
Topic: Mathematics-Section A
Item No: 8
Qlfestion 100208
ID:
Question
Type: MCQ
~ 4
62aQ 9@ 60d¢ll L, Q@6 6@l bx+10y—8=0 9e° 2x—-3y=0, be R — {5} QA 62Q I QR
Question: | 96 @QR | 98 gadl 6adl L @g (1, 1) 7d 6aa o0 F6Q 8 98 17(x2+12) =16 Q 24 F6Q, 6061
. - x2 2
a1 qa (eRer) = + I =10@6e8 (o) @ A 26T
b
2
A: _—
J5
B: E
5
1
C: _—
J5
D: E
5
Topic: Mathematics-Section A
Item No: 9
Question ID: | 100209
Question MCQ

Type:




A% 89 A(—1,4,3) 019 9964 P: 2v+ my+nz =4, 98 286 26 AIe 09 ARIS [_2, 4 E]
53

Question: 35i¢s0
6062 G490 Adie(d.rs) 3, —1, —4 Q1 9@ 6l 42 LAI2Q Q6T IdeRen
A Qg @ Qrlee P qalea QY 2T :
A: 1
B: J26
C: 3.2
D: J14
Topic: Mathematics-Section A
Item No: 10
Question
D- 100210
Question
Type: MCQ
— A A — A A A — - -
A62@Q a =3i +j NQ° b=i+2j+k | @€ €60@Q ¢ 9@ Q4I&E 64U
Question:
- - - - - i 3 .
a x(bx c/=Db +Ac 149 b B c KB FLB, 6C6X A Q W 26T :
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 11
Question
D- 100211
Question
Type: MCQ
99 9R(F181Q) @ d1d F9Q YLIQ RAR ]l 9@ g A 0a 68 9Rd a Ie° A JgQ
Question:

- ~ -~ o~ 4 3 ~
J86Q 9 AR QA6Q 2} YR G B 0I6Q 618 @G cos 1[—} 269 | 9@ 99F (tower)

Ji3

0IQ B 392 929! 15 9@, 6962 cota AAIQ :




A: E
5
B: 2
5
C: E
3
D: z
3
Topic: Mathematics-Section A
Item No: 12
Question ID: 100212
Question Type: | MCQ
Question: QAR A& (p A q) = (p A1) A2 A 2 QBT :
A q=(pAr)
B: p=(pAar)
C: pAr)=(pPArq)
D: pAaq)=r1
Topic: Mathematics-Section A
Item No: 13
Question
D- 100213
Question
Type: MCQ

696Q @ Gee IR d1d §Q AI6e A(a, 3), B(b, 5) 8 C(a, b) 12IQ 056ae (A07624Q) P(1,
Question: | 1) 266 | 9@ 6a¢ll AP 6a¢ll BC @ @9 Q(k,, k,) OI6Q 680 @69, 686Q k, +k, @ 94 ¢Ja
e :

2
=
7




C: g

7
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D- 100214
Question
Type: MCQ

M M 5o s s = s

767@Q a B b ¢RC AR IR QO LU 69l (f119) 2290 6914 T 260 | 9@ Q4w
Question: 4

(A A) A A (A A)

a+ bl 8\ag+2b+2\la+ b/ UL 6 6 €4, 6669 164 cos20 Q Imi Al -
A: 90 + 272
B: 45 + 182
c: 90 + 32
D: 54 + 90/2
Topic: Mathematics-Section A
Iltem No: 15
Question ID: 100215
Question Type: | MCQ

T loggt
Queston: | 88 f(a) = [ =210 dt, a >0, 6669 f(e%)+/(e 7) QFIF ;
1+t
1
A: 0
B: 2
2
9
C: _—
loge (10)




9

D:

2 log. (10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216

Question Type: | MCQ

aueston: | {(x, y): |x — 1| < V5 — x2} 69€ (28R)Q 68T AR :
A: E —1 [2) . l
2 5 2
B: 5_11- — E
4 2
C: 3_11- + E
4 2
D: 5_1T — 1
4 2
Topic: Mathematics-Section A
Item No: 17
Question
D 100217
Question
Type: MCQ
A68aQ L : y=mx+c, m > 0, CIQ6RIN P : 2 =4x Q 9@ QI0Yl, <9l UG M 68 N
Question Q60 A6 P6Q | FA6RPR 698 L i RIRIRl H : x2—12=4 g6 1@ 2¢a | 9@ g O,
u on: 0 o —~ =
dIQIERIR P @ 61999 68 G F, 21edacqial H @ @16l @9 29 Qg x-23Q JaI9de Gd Q69
280, 606@ OMFN 9QEea 680Ta IS :
A 26
B: 2414
c: 14J6
D: 4./14




Topic:

Mathematics-Section A

Item No: 18
Question
D- 100218
Question
Type: MCQ
dex f: R =R,
Question: | f(x)=|x —1|cos|x — 2| sin|x — 1| + (x = 3)|x2—5x + 4| T ARRFIA CLRAYRAR! FRAIGTR G
aee :
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D- 100219
Question
Type: MCQ
Quest A60aQ S={1, 2, 3, ..., 2022} | 6662 696 S @ ARG 9@ AW T CUIRG GIEIQ B 2022
uestion: - P ~
FIER FIQE diRIQE QIR 1 6299, 6064 64dedal 46l QIRIIQ AN 26T :
A 128
1011
B: 166
1011
c 127
337
D 112
337
Topic: Mathematics-Section A
Item No: 20
Question ID: 100220




Question Type: | MCQ

A6R 9 TR f(1)=307-2+4 1 ¢ R aig, 59 89eq §01a @ :
P:x=0, f Q9@ Q510 964 a4 el 9

Question:
Q: x=+2,f Q QREYRAR 9
P ALF o~ W,
R:f Q&Y x>+/2 A0 606, 5 kg 6R66 A0 ?
A e@e@ PG Q
B: 6@ PGB R
C: e@a@ QB R
D: ae P, QB R
Topic: Mathematics-Section B
Item No: 21
Question
D: 100221
Question .
Type: Numeric Answer
Questi A69@Q S=1{0 € (0, 2mw) : 7 cos20—3 sin20—2 cos220 =2} 6969 AAIRAQE x2-2
uestion: -

(tan?8 + cot?0)x + 6 sin20 =0, 0 € S FIFR QA R AT AT 2163 !
Topic: Mathematics-Section B
Item No: 22
Question
D: 100222
.IQ.ueS_tion Numeric Answer
ype:

A6FAQ 20 aﬁit_ne@saa Xy Xop o v o Xy B CIAAIR (FR) 6 9AE (R1BRIRQ) QeIasa 15 6 9
Question: | 21661 ae R QIR 4@ (x;+ )% (x,+0)% . . ., (xpp+0)2 Q T8 (AIAIF) 178 24, 6669 a Q R

A6 I AR I
Topic: Mathematics-Section B
Item No: 23
Question ID: | 100223
Question

Type:

Numeric Answer




F6AR0 Q@ 694 IZIQ Ga1g 299 a; —4a; —7 26T QILl U QRT 69% 96 M CARAINTR
Cx+1 y—2

Question: | Q&g AQAIG 3,—1, 2b ¥Q° b, a, —21 97 698l 5—— = 55— = — TQ AweR
a- +b a-—b- 1
x+y+z=049% 68% Q9 (a, B, v) 99, 60969 a+ B+ QA I
Topic: Mathematics-Section B
Item No: 24
QLfestion 100224
ID:
1Q_ue§tion Numeric Answer
ype:
A6RAQ a,, a,, as, . . . D QA YAB1, U@ i L =4, 6969 4a, @ gAY QAR
Question: A ¢ ’ - ’ .
|
Topic: Mathematics-Section B
Item No: 25
Ql,.lestion 100225
ID:
?ue§tion Numeric Answer
ype:
1 n
[%ﬁ + %} @ﬂ@ g4Il F1eraa 2Idg JdEf de 8 6699 d8f deq 2edle % :1 99
Question:
1 —~ ~ o
—Q WP QRURKIER) | de AR FEL d@ —26F, 6069 a =
Topic: Mathematics-Section B
Item No: 26
Ql{estion 100226
ID:
_?ues.tion Numeric Answer
ype:
Question: | % 3%3 2eq A9 AN (F19]) LR AR JeR 0 2AR! 1 A3 9e° AITIQ AT AR
Aleeq A8 9@ 6188 Al 26e, 698 AR AR A°Hl 26T |
Topic: Mathematics-Section B

Iltem No:

27




Question

D- 100227
Question .
Type: Numeric Answer
pl (+1) (p+2)
_ F6RRQ p IR° p+2 6910R Aol G 9e° aerea A=((p+ 1! (p+2)! (p+ 3 |
Question: P+2)! (@+3) (p+ 49)
Q@ p* B (p+2)P ARG A @ WUIFER 6968 o I B Q AR JAIQ ANF 26T
Topic: Mathematics-Section B
Item No: 28
Question ID: | 100228
Question .
Type: Numeric Answer
- Qe l + s - L +... + - =k,6@€®34k:
Question: 2x3IX4 3IX4A4X5 4X5X6 100 x 101 x 102 101
Topic: Mathematics-Section B
Item No: 29
Qlfestion 100229
ID:
Ques.tion Numeric Answer
Type:
Quest f6e @@ S={4, 6, 9} 9e* T={9, 10, 11, ..., 1000}. QG A={a1 +a,+..+a :keN, a},a,
uestion: ~
Qy, .oy A € S}, 6969 649 T—A Q 969 QUIQIR AIREQ 9Od =
Topic: Mathematics-Section B
Item No: 30
Question ID: | 100230
?ues.tion Numeric Answer
ype:
A6R@a 69159 Q@ ¢ : 2+y2—2x—6y+a=0 Q 6Qdl y=x+1 6Q 9IAF
Question: | ¢, : 522+ 5y2+10gx +10fiy+38=0 1 9@ r , Q@ ¢, Q@ AUAG Q4 6962 a+6r2 Q FaY AN
|
Topic: Physics-Section A

Iltem No:

31




Question

D 100231
Question
Type: MCQ
Q6160 906 @8 PRINIRE | 661N AR (A) YQ° AT RIRE (R) QI6Q @6IQIRE |
QAR (A) : R GAP QIR 6RINR, ARCTY 6974% (S) (490RE1) CARR QXY p I° QIR IAIS T
QAUER PR AR | 6669
3 . o
T=K [PT/,, (91A) ¢Ieenade AqQ6a 1@ A0R ANRR6 266 6990 K QIRenada
Question: Sé
Q1R 26Q |
@I (R) : (219191) QIREARAR A1 2gA6a RH.S Q@ @IR6aa9de oine 96ae (Aeean) a
RIREARAR 0Ig AMAl |
QUCRAIB OB URIAER 77 RF FIQ AUYS VAT IR |
A Qad (A) 99° (R) 94 99° (R), (A) @ Q@G{ QYIGYl 26T |
B: Qe (A) 99° (R) QoM €lg (R), (A) @ Gl('j@\ QYIS @6 |
C: (A) QY Qg (R) Fewl |
D: (A) fal g (R) Q6 |
Topic: Physics-Section A
Item No: 32
Question
D: 100232
Question
Type: MCQ
49 O PA] 62660 RO TSR ¥9° @RG h ae6l adie Rl | ANG QUA AQUIG CREEERR
Question: %
6U606RER QRG - QALRIER &9 ?
A: \/E =1

2 41




J3 +42
C: Jg —1

3 +1
D: l

3
Topic: Physics-Section A
Item No: 33
Question ID: 100233
Question Type: | MCQ

: dx
Question: = - e .
Q@ t=+x + 4, [dt]t=4 =

A: 4
B: OISk
C: 8
D: 16
Topic: Physics-Section A
Item No: 34
Question
D- 100234
Question
Type: MCQ

Question:

0gea QIR @R 9@ QAIA 62 AIPIQ 9 §nA (90FRIR) Qed 28, 018 @Iag AT m LR
4R 94, R A7IR Ge v 6 Q9B | 767V 699 A6 R AUER AR QIR 6222 IR IR (N) 9e°
de. (v) @ gede Qg2 |




A:
V
N
B:
V
N
C:
v
N
D:
V
Topic: Physics-Section A
Iltem No: 35
I%‘feS“O” 100235
Question
Type: MCQ
NG Qf LI Qo® da E dee, Qg 4 QSR @6’161 60° 6@ldlca geld @lcml | @m ow 90
Question:
dQd@ YADPNER 6@ER 629 7
A: Zero (ﬂj?ll)




_ E
B: — (212)
2
C: E e
: 1 (9@ ogare)
D: E
Topic: Physics-Section A
Item No: 36
QL{estion 100236
ID:
Question
Type: MCQ
= = = o e M A I
QR% 9@g QI8 @99 1kg 9e° 3kg 266, 6AAIREa 6dI0AR, 60qa (86 AQ4) QaIQeq i +27 + k
Question: A AA S R % “ p
NQ° =37 —2j + k ¥U6S | 9@ JqAQ 699 AL, A1 (9gQ 699)a IS (FI9RYL) 689
AR FI9PQYe, A2 AR 689 ?
. s IR
A i +27 +k
: £ IR
B: -3i —2j+k
M A
c -2i + 2k
. i iy
D: —2i — j +2k
Topic: Physics-Section A
Item No: 37
Question
D 100237
Question MCQ

Type:




30160 QR0 A8 T2AINE | 6AITY K2R (A) 99° AME FIRS (R) QIR @6IQINE |

QAR (A) : 60R/Fq @9 AT FAPIQ VIGER CIR V1T B6FR 29 1D |

sueston Q14 (R) : 60n/F1Q 9° If 6061 ATR AT A9Iq (A5 6R16) 261 (2TYQ) 266 |
QUEAIB Q@ IRIIQER FYRYS FRE Ig QUYS QAT QIS |

A Qe (A) 99° (R) 204 9e° (R), (A) @ A0 QUIEI 266 |

B: Q0 (A) ¥9° (R) Qo4 91Q (R), (A) @ Q0@ UKyl 96 |

C: (A) QY qug (R) Femi |

D: (A) dayl qug (R) Qo |

Topic: Physics-Section A

ltem No: |38

Question | 100238

_(I?;pe;tion MGG

Question: | @ G10Q ARG QRGE I QIAGY 2l KAGZIGR | @g (6r6002IR) @ 96t AgRq (FaIw) :

A QAR QEQ

B: dIode qmig 8 g8 @@de

c: 9IefAa gaig @ 9gdl’d 629

D: dIQEa gaiq 4 g6 @@de

Topic: Physics-Section A

ltem No: | 39

Question 1 409239

?;pees:tion MCQ

Question: @ Ao cQlee(cagma) L A9l 9IF 2169 ¢na | 9@ qIFT o 6016 @RId 29l 9R6a (AR]RRE,
69969) a1 AF66Q RQ 96 A6R, 636 CUGAAR AP 6R6E 699 ?

A: 2mJL/ (g cosa)




B: 2m,/L/ (g sina)
C: 27w L/g
D: 2m,/L/ (g tana)
Topic: Physics-Section A
Item No: 40
Question
D 100240
Question
Type: MCQ
L L . po[é—l]‘alﬁi'rsR
9@ coing deAga (AAFR) oI FRRAER AR SIF kg p(r) = 4 R
Bl aQ r >R
626m r(r < R) 9@ kI ‘O’ 96l 29 (Fg6a gaa), P a¥eeq GQie, 699 Y 6@6e
Question: | §29" 7
il T
T [_ » _]
4e5 \4 R
. pp T [3 r J
3gg \4 R
I r
C: _P[] [1 - —J
4 €p R
I r
D: _P[] [1 - —J
5 €p R
Topic: Physics-Section A




Item No: 41
QL_Jestion 100241
ID:
Question
Type: MCQ
J616e 9t 98 GUIAIRE |
Jaq @ae I: QU0 F9Q g6eIe JRQIPR A86a 1e° A6Tq (99)6a 8a (AagIe) Q62 |
Question:
Q019 Qe I1: 9QYQ, 698 g60ie Q96 CaIR d¥ OIf §Rf S96Q Q6P |
QUERAIB @3 URIRER AQOIG QUYB QARG 7F Aaa FkIg QI8 |
A: Qad 2@ I 99° @@ II O |
B: Q09 @3 I 9Q° @8 11 g |
c: I10Q &g II 9f |
D: I 9m @g I1 O |
Topic: Physics-Section A
Item No: 42
Question 400242
Question
Type: MCQ
QPG 6761 (UIQ) 019, LR FANCARAR, 9@ AAIR 26T AR, (6¢46198 QI6R) A°6IT FQATR! |
Question: | g@ o, 9Q° o, J2ARES 6ATPFA JRILRC! (QINRG!) 24, 92 AR YETFR (AQEIAT) IRRG!
6R60 699 ?
o7 0
A: 172
0'1 + [}'2
201 O
B: 172
G’l + 0'2
o1+ 0o
C: 12

2(}'1 [‘Fz




[}'1+G'2

D:
0102
Topic: Physics-Section A
Iltem No: 43
QL_Jestion 100243
ID:
Question
Type: MCQ
. \/5 — - - —
9@ AC emf E=4405in100mt @ — H 6ge@e! &l ARcea 6dIQIonl | 98 ARG6R a.c. AR
Question: 11'
CAIRIAN, OI'Q Q6° 6R6e 62@ ?
A 4.4 A
B: 1.55 A
C: 22.A
D: 311 A
Topic: Physics-Section A
Iltem No: 44
auestion | 100244
Question
Type: MCQ
1 H 6ga@el ¥e° 100 Q g&6alal 2l 4@ &N 6 V NI6eQI6a 6IQIeml | Asia aa -
(a) ©6QQ QIQ 6]E 6aC. AU (TR aY) @ AR ULERI 2T 6R6E SR 41
Question: 62 ?
(b) @NR A2 °JR 9ARIY 69Q6R AET. Jo AR 629Ia OR, 15 ms d6R, 6@60 98 9ge 62 ?
(In2=0.693, e ~3/2=0.25)
A: t=10ms; U = 2 m]
B: t=10ms; U = 1 m]
C: t=7ms; U =1m]
D: t=7ms; U =2m]




Topic: Physics-Section A
Item No: 45
Question ID: 100245
Question Type: | MCQ

SRSl 1 926 QIael 11 q FeId |

QIR - I IR - I1

(a) UV Q4 () Qo dIRY ARRER g
Question:

(b) X-9f (i) @@ 9Fed

(c) ¢IRERAER (iii) QILIR, 6QIGIEIS

(d) UEMDG G (iv) QeGe 9a6q cogal AFel Q&
A; (a)-(iid), (b)-(i1), (c)-(1), (d)-@v)
B (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
C: (a)-(ii), (b)-(iv), (c)-(iid), (d)-()
D: (a)-(iii), (b)-(1), (c)-(if), (d)-(@v)
Topic: Physics-Section A
Item No: 46

%feStb” 100246

Question MCQ

Type:
5 RENY, A0 908 98 E 6o, 99 A0 e 0asr 69dY A 29 | 90e 989 2E @del aId 2Igbe
uestion:
(03624 ) ZIERINR PQE 6AGY 6R60 699 ?
A __he
EN — hc
B. hch

EN + hc




hi

C: e o
EN + he
D: hch
EN — he
Topic: Physics-Section A
Iltem No: 47
Qgestion 100247
ID:
Question
Type: McQ
2IR6QI697 JRAIgR A8 JRRRnE I8 6RINYRI 6TIFR UR 98 QUG 699 :
Question:
(i) @o10 cafieeq, (2906 9Ig) 48 20 g2 Q 1e° (i) AWe aafieee 88 20 9ad 2a |
A G |
B: A
C: 1 44
D: 4:1
Topic: Physics-Section A
Iltem No: 48
Ql.festion 100248
ID:
Question
Type: MCQ
Quest 8 V 00eeq §da AM 0a@q, ASRIA IR 9 V 626/, 018 A96RdR gIn (QRREe]) 6R6e
ueston:
62Q ?
A: 0.8
B: 0.5
C: 0.2
D: 0.1
Topic: Physics-Section A
Iltem No: 49




Question
D 100249
Question
Type: MCQ
@ ORl AIRERIERIC (AQERE 9a) @ IR 6AMER J6 cm 20 GARE 2T 6969 @ AAFIR 6INER
Question: | AREFIS 50 PARR (AIG) QLG 9Q° 25 AIARLA 6@ FEPR 24 MIREIR CARR, A2 AFIL | leaR°
AIRERICAITR AL QIQY (QYFeT AId) EQ6E 629 ?

A: 0.001 cm
B: 0.002 mm
C: 0.002 cm
D: 0.005 cm
Topic: Physics-Section A
Item No: 50
Question ID: | 100250
Question
Type: MCQ

QIee I AT AT IQIVEER PLE TRER FEIB RNEAAR. (P18 AR |

PQ
=g

Question: | (A)  w@ qgd qdaca 2 0.5 mm &Y 6AR RACR S F6A |

(B) Q914 62QR AW6AIT SRR Q°HYI =50

(C) ¢4y 6aRa @&° 2.5 mm |

(D) 45t SRR Q1Y 3R do. AIRe (604¢) QU6R 23 |

(E) Q9604 (20994d) @ 0.03 mm 62690Q g7 &6 28 |

QIR QU 6RER 689 ?
A: 2.92 mm
B: 2.54 mm




C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B
Iltem No: 51
Qgestion 100251
ID:
Question .
Type: Numeric Answer
4R @9 ‘U’ 69961 ‘0’ 6RI86Q (ANIBR A6 A2) TFITR | GEAUT AR § AT 608 (9R) R
Question: | 68 J2EAI | AQY @ QAAR 6906Q Tl IR LA YAAIIR 6QG JaT 60EQ 2l 62Rl | QG
AR gIRAe 6906a du AIRA6n, o190 @46 T IR 6R16Q AR Qg1 699 |
Topic: Physics-Section B
Iltem No: 52
Qlfestion 100252
ID:
1Q_ue§tion Numeric Answer
ype:
AIGHERRE 9ad, G089 ‘h' epeIea 1e° ‘ah’ 60«0 (h << R)) da100I6a (§U8q) 1@ O4g
Question: | I (3] 9@2Q) IR AR 626  Q A 62Q |
(2291 UAE R,=6400 km)
Topic: Physics-Section B
Iltem No: 53
Qlfestion 100253
ID:
?ues.tion Numeric Answer
ype:
e Gaeslg auiq ['y = 9 QI2IQ Q1T P, 99° 4IQ d, 26T, 9@ QIR 164IT 67I6A6a 2015, IR
Q19 P, (> P;) ¥e° @4Id d, 62IQ6al | SUIdq QIFIgl @@YIR 2Iede S1aaIgia qe
Question: _
62IQde |
d
(. 2=32)




Topic: Physics-Section B
Iltem No: 54
Qtfestion 100254
ID:
1Q_ue§tion Numeric Answer
ype:
9@ (1) 671RQ 691G JasIgeq 99l SUIA A2 3 6FIRQ GUrIgen gl U Adin Qeldn | 9
. - i . — = — P C[z
Question: | zig0e GdQ 91 (ARQINIR 62dTR 26) Ag0ea FLa UIKLERER TR J/mol K 24, a @ qY
€29 | (U8R €d Q@8 YUarIge QY 6QRR 96 99e)
Topic: Physics-Section B
Iltem No: 55
Question ID: 100255
Question Type: | Numeric Answer
— —
d@0en 6L K6d I Q ¢lmY A e |
9() 9 () 9()
Question: A AAY W\
IA
| |
"6V

Topic: Physics-Section B
Iltem No: 56
Qlfestion 100256
ID:
Ques.tion Numeric Answer
Type:

4R 5 cm QAR A} (AHAIY 6ARURN) QRN AR 672 FQER 37.68 X104 T QAAI 618
Question: | 98 @9 | SYAER A Q608 gQIge 6208 |

(F1600a @MAQ @° 2T 0@ (6aal) 100 99° w=3.14)
Topic: Physics-Section B
Iltem No: 57




Question

D 100257

Question ,

Type: Numeric Answer
QRS ZERIe 98 (Q9) QIR 196! 41 9e° I Y6, QLQTIR (IPRRE) Qe | IQ Q. AUER

Question: | gQl A §QOIER Q7 QIR anl (60a) @ 2R 0 9Q° B O¥4€6Q, T D4, 6669 JREIA 199IQ 22
A ¥e° B Qg qIea [ 629 |

Topic: Physics-Section B

Item No: 58

Ql{estion 100258

ID:

Ques.tion Numeric Answer

Type:

q 14 A Q604 ge@e 6222Ql 314 cm Q YR 910q Y@ 91 qd 629 dIR 64IF SRl | AIAQ ARG

uestion:

qeed  (QuIeEReR el6ad) A-m? 629 | [@@ : w=3.14]

Topic: Physics-Section B

Item No: 59

Ql,.lestion 100259

ID:

?ue§tion Numeric Answer

ype:
QEE IRQE! AIITT M, 9e° M, £kIEa X-Y 6nq Q1ad 8 da1a1e | M, Z=0 AkFe geqadra

— e i M M M

Question: V2 e M,, Z<0 6@ g6adia /3 266 | R AAIR F P =443 — 33 — 5k M, ARIAG
X-Y 696 2Igee caal | 2Ia6e age 6ald (M, 6a) 9e° godae (Adleqe) ada 6qle M,
AlIFI6R, Alge Taas @91 629 |

Topic: Physics-Section B

Item No: 60

Qlfestlon 100260

ID:

Question ,

Type: Numeric Answer
PN PEAR6R 9RQ QLR (dIeeal) 0.6 V 269 | 606@ 6x107° m 6¢l66Ra 29dR. AR

Question:

(S961R 2°9) 6Q SQUe, 6F8R B1Q0! x10° N/C 629 |




Topic:

Chemistry-Section A

ltem No: 61
Question ID: 100261
_?;pees:tion MCQ
Question: | AEIRYE ¢ 6QIPI F12IQ RILIQ 6P AENQ, K, UG 99° FYIRG AR g &g ?
A: BCl, and SF,
B: NO and H,SO,
C: SF, and H,50,
D: BCl, and NO
Topic: Chemistry-Section A
ltem No: |62
Question 100262
(TQ;pe;tion MCQ
Na(g)+3Hs(g) = 2NHyg)
Question: | 2 g 5g
RUERID 9ORANIG A0IR AR | 9ERAR S9N AR ¥e° 606 NH, @ 671R Q°ayl 6228 Q2IR6A
A: H.,, 1.42 moles
B: H,, 0.71 moles
C: Nz, 1.42 moles
D: Nz, 0.71 moles
Topic: Chemistry-Section A
ltem No: | 63
Question | 100263
1Q_;pees:tion MCQ




250 mL @@a6Q 100 mL 5% (w/v) Q@ 9@ 996 RP6a dg9e @aIdal | 9@ NaCl Qedea 2
Question:
2INQYEARR PR QANIER QG TAITR! | M2 gge Q9dT M :
A: ARCTAR AR
B: RARBETIDR AR
C: A 962 @% N LfINda J9o a@alolml
D: AEAE el
Topic: Chemistry-Section A
Iltem No: 64
Question
D: 100264
Question
Type: McQ
9 Na, Mg ¥Q° Si @ gaifl 2I6AIR6aqq 9feind Q2IQesr 62@8 : 496, 737 ¥4Q° 786 k] mol ~1 | Al
uestion:
Q gale 2edRIReadr 9eeind k] mol ~! 6q 6243 :
A 487
B: 768
C: 5717
D: 856
Topic: Chemistry-Section A
Item No: 65
Question ID: 100265

Question Type: | MCQ

Question: CACINGER ‘G’ 968 QULEE 29 |

A aige Aol 2RFIRe 9ga 9994

B: d6qe dIg] 21§ ARURY UIQR JoAE

c: JIReR QIER g8 UQRER A Yde awld
D: 6eQ QARIY o




Topic:

Chemistry-Section A

Item No: 66

Question ID: | 100266

Question

Type: MCQ

Question: G0 2 (excess) PRI KRR AT JERAIG QLER LARECLISRIERR. QI IQ°
A: Zn(OH),

B: Zn0O

C: [Zn (OH)4]2 -

Topic: Chemistry-Section A

Item No: 67

Question ID: | 100267

Question

Type: MCQ

Question: RNEAC FINEST MQ° 6AIFAC FINCEOQ ARG ARG QY K6 YAKET QAT
A: LiNO, and NaNO,

B: Li,O and Na,O

C: Li,O and NaNO,

D: LiNO, and Na,O

Topic: Chemistry-Section A

Item No: 68

Question ID: | 100268

Question

Type: MCQ

Question: SC12, 03, CIF3 9 SFBG GG?@FJ, deliglea gl Nala1 6digiar Q°stl Lallget] 6ORS :
A: 0,1,2 and 2

B: 2,1,2and 0




C: 1,2; 2and-J

D: 2, 1 % 0 and 2
Topic: Chemistry-Section A
Item No: 69

Question ID: 100269

Question Type: | MCQ

Question: QORYE IO NG, AP 1216 6RRE QFIR ?
A: SC3 + an +

B: Tid+ , Cu2 +

C: VZ + ) T13 +
Topic: Chemistry-Section A
Item No: 70

Question

D- 100270

Question
Type: MCQ

KMnO, 4@ 634Ia1 @I0@ 62102915 fagin @2l dal fIa1g ARIF6R 2IQBANET] AIGIR QIR
Question: )
ARNCTC] FIE FRER | I8 FERAER AINTRR RIQE ALLIQ 671G AUERQ TALRR 629 :

A: 5

B: 1

C: 0

D: 3

Topic: Chemistry-Section A
Item No: 71

Question ID: 100271

Question Type: | MCQ

Question: Qe 691! Flalo) 6@@@8@ QR JIARIde 28 ?




A: PINER IG° CONGR

B: 6QIFAE 63/6QG 9e° ZINER

C: 6QIFA 2AI6RE.

D: 6QIFAL 691606 I9° 6QIFA 2IQTERS
Topic: Chemistry-Section A

Item No: 72

Question ID: 100272

Question Type: | MCQ

Question:

QORYE F1RIG 698 AQ0IE ABGIN 2REAG AR ?




Topic: Chemistry-Section A
Item No: 73
Question ID: 100273
Question Type: | MCQ
Question: @A 6@ 64IPI FRIG &9 B6RI6RINAQY G2 62 AU 69 ?
CH;, CH,
A:
«—>
CH, CH,
CH, CH,
CH, CH,
CH; CH,
CH;, CH;
C:
>
CH; CH,
D:
>
Topic: Chemistry-Section A

Iltem No: 74




Question

D 100274
Question
Type: MCQ
AgCN NaCN
:A.r < g /\ Cl a > :B!
Question: (Major Product) C2HsOH—H0 CH;0H-HO  (Major Product)
QU6QID ORAIq So1eq 8 | 6dIde ‘A’ ¥ 6dIde ‘B’ Q2IR6s 62088 :
: ® O
A N N=¢C N9 N E
B: G C=N, /\ C=N
. ®@ O
C: SN N=¢C SN C=N
. ® O
D: P C=N, A N=¢
Topic: Chemistry-Section A
Item No: 75
Question ID: 100275
Question Type: | MCQ
OH
Br NH,OH P>,O
L 5 A & » B =2 5
Question: =
CHO
RUCAIB Joqal @0 A0l @8 | agle ‘C’ 628 :




Br Br

Br Br

Br Br

Br Br

rdecfad

Topic: Chemistry-Section A
Item No: 76

Question ID: | 100276

Question

Type: MCQ




Question:

QUCAIB JERANG F9I0q 72 | 6AITR ‘A’ 6998 :

)
A: 1 |
Cl CH3
O
Cl
B: G |
H,C
O
Cl
C:
Cl




O
H
D:
Cl

CH,CI

Topic: Chemistry-Section A

Item No: 77

Question ID: 100277

Question Type: | MCQ

=NCl—
‘A7 NaOH
Question: Product
(Orange-red dye)

FORYe I 6RYE ARRFR ‘A’ @ gedie @R ?

=
e
§




D:

Topic: Chemistry-Section A
Item No: 78

Question ID: 100278

Question Type:

MCQ

Q¢ 969 2A9enTe GoRg @2 |

CH,—N=CH-CHj;

NH,
Ouestion. (i) AIH (i-Bu), o CH3;CHO 1 5
(ii) HO dil NaOH, A (Major Product)
CN
QI ‘B’ 6298 :
A OHCO— N=CH —CHj




Il
D: H>N C—-N=CHCHO

Topic: Chemistry-Section A
Item No: 79
Question ID: 100279
Question Type: | MCQ
— — — — A,

Question: QENYE 6LITR gPR FIG 6090 Y ACRIER B8 ?
A: EdmELa
B: ARG,
C: AL
D: gegida
Topic: Chemistry-Section A
Item No: 80
Question
D 100280
Question
Type: MCQ

4@ 6416 ‘X 6268 2gid 99° 92l NaOH Q@46 9e41a &g NaHCO, 60 29941 | 641de X’
Question:

2128 F1)l FRgIM FeCl, @€ 426 QG & &4 | 6dIde ‘X' 6298 :

OH




OH

B:
CH,OH
C:
CH,OH
D:
Topic: Chemistry-Section B
Item No: 81
Qlfestion 100281
ID:
?ues.tion Numeric Answer
ype:
74.5 ppm KCl 996 @@ 98 98920l 6a19a (6118 daie 129 m~1) gGeaiie 43 62a@ 100 O
(296 1 QI6Q 990) 696066 692 6RIEE 149 ppm KCI 20660 @& 29 12ia goeaia 50
Question: | (G961 2 Q168 §86) 1 204 1 96° 904 2 @ 6AINIG AAL@EIR 2016 6208 L = yx1073 1 x @
: o
mY 62R& | (Peeeq gda“e)
(@@ : KCl @ 67 999 =745 g mol —1)
Topic: Chemistry-Section B
Item No: 82
Question 100282

ID:




Question

Numeric Answer

Type:
QISIAR, AT 1e° AIRIHR B~ Q 26ATR IARGPR 62988 2Iges 102 Ne° 181 pm | 1@ 29
q6q 26aRa @08 QIR IRl UIRE R IR IR | 1@ ITRER B~ Q A9IRIQ A°Q8 (IO

Question: 5
6qle CUI@®) 28 | AT AAg 2] IRRIY R (8198) 6@ UYFE | 4T AB Q I9Q 6RIFR UK QY
co08 pm | (Becea gdae)

Topic: Chemistry-Section B

Iltem No: 83

Qgestion 100283

ID:

Question .

Type: Numeric Answer
e Q6AQ. Q8 96a UAGRAL ARLES! 2a, AR QI 9@ 1A UIREq €2ad
(6960 a,=691Q MIAIF 52.9 pm) kms 1 |

Question:
(@8 : AERg,@ 929 =9.1x107 3! kg,

Qe Qe =6.63x10"34 Js)

Topic: Chemistry-Section B

Iltem No: 84

Qgestion 100284

ID:

Question .

Type: Numeric Answer
600 mL 0.2 M HNO; @ 400 mL 0.1 M NaOH Q@4 296 4@ qIasa f4Ien, gaa e1aaIgl o
6208 %10-2°C |

Question: -
(9699 9e2Iad =57 k] mol !
PRQ Q9] QI eI =42 K1 g—1)

Topic: Chemistry-Section B

Iltem No: 85

Question 1 100285

Question

Type:

Numeric Answer




303 K6a O, qiIdq % Gea 69 9990 KaIdIRg | 1 ATR aR6a 97ge 62aael O, JiIda Aq
Question: | 691lM@ A°HYI 6998 | (Faceq gdacyyl)
(@@ : 62001 G99 AT O, IR 303 K 6@ 46.82 k bar 9&° 2I°8@ G1d O, @ =0.920 bar)
Topic: Chemistry-Section B
Item No: 86
Question
ID: 100286
1Q_ue§tion Numeric Answer
ype:
9@ PbS @ QIeYel gede 8x10~2 94, 6l626m PbS @ ¢8 @neq 99€Igel 298 K 6Q 6298
xx107 1o mol L71 |
Question: N N .
x Q gy 6208 | (Faoea gaa-sl)
(@@ : V2 =141)
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100287
_?ues.tion Numeric Answer
ype:
X NQ?Y aaeq doqdl X Agdial gl @ 4@° Y AL Jaiaa |
- X] [Y] dIede @,
2 mol L1 mol L1 mol L' min~1
Question: I 0.1 0.1 2102
11 ! 0.2 4x1073
111 0.4 0.4 m x 103
v 0.1 0.2 2x1073
me° 1 @ AR RIea QIS 6208 | (Facen gdacsl)
Topic: Chemistry-Section B
Item No: 88
Question
D 100288




Question

Numeric Answer

Type:
@ 604e 669 609019 (82 2iferl 2¢) Ql 610e) 6 (2IF6R Aga A°¢ll) (6adeIRe 9
Question: ﬁ
Ad°HYl) 6208 |
Topic: Chemistry-Section B
Item No: 89
Question 1 100289
Question .
Type: Numeric Answer
69I0IARe 6UIT6RAR, ATNER 1, 1, 2, 2- 66QI6RI6AI 6g16a%, (27%2Q1e7) dIRel AR 1.0 g
eeIfieq egiaide Ao dAdiom | goaaiq daael 1, 1, 2, 2-655I6QI6CI 6gI60RR A 628
Question: 5
x10~1 g. | (gdaaileq aae)
(671RIQ 9G] - 6Q1FR, =80 g/mol)
Topic: Chemistry-Section B
Item No: 90
QL{estion 100290
ID:
?ues.tion Numeric Answer
ype:
[Fe(CN) P~ 9& 288 @86 QR 620 @00 | 12 Qg dil feIn 699 01008 98 c2ed
Question: | (=) A | (9992 43¢ @6dal @)

(Facen gdacaicn 9hde @)




